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Activity Depends directly on ... Activity Depends directly on ...

A - G B, C

B - H B,C,E,F,G

c - I B,C.E

D A J B,CE

E A K B,C,E,F, G

F C L D, J
(ii)

Activity

Total Float

A

14-0-14=0

16-0-12=4

15-0-14=1

30-14-12=4

19-14-5=0

mm|T | 0w

19-14-4-=-1

Activity Total Float
G 19-14-3=2
H 32-19-12=1
I 32-19-11=2
J 30-19-11=0
K 32-19-13=0
L 32-30-2=0
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(iv)

(v)

From table on previous page: Critical Activities= A, E, J, K, L

=> Critical Paths = AEJL or AEK including 2 dummies

2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32
A | E | I [ L]
B Lol
C L
D L]
[ F o
[ 1.}
| H R
| L]
| K

Acftivities D, E, F and G may be happening.




